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Subject Name: Engineering Chemistry 
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Instructions: 

1. Attempt all questions. 

2. Make suitable assumptions wherever necessary. 

3. Each Question is of 1 Mark. 

4. English version is considered to be Authentic. 

5. Use of Simple Calculator is permissible. (Scientific / Higher Version not allowed). 
 

1) which factor is responsible for the formation of ionic bond? 

a) Ionization energy   b) Electron affinity 

c) Both a and b    d) None of the above 

2) when one element attached with other element by chemical process is known as………. 

a) valency  b) bond  c) molecule  d) H-bond 

3) which bond formation take place in p-chloro phenol? 

a) Intramolecular H-bond  b) Intermolecular H-bond 

 c) H-bond    d) None of the above 

4) The force of attraction exerted on bonding sharing electron by atom? 

a) electron negativity  b) ionic energy 

c) bond    d) electron affinity 

5) what is the physical state of mercury Hg and gallium Ga? 

a) solid    b) liquid 

c) gas     d) none of the above 

6) In following metal which metal gives FCC arrangement? 

a) gold    b) iron 

c) tungsten    d) none of the above 

7) In the following example which one is a ionic solid? 

a) P4   b) Sr   c) Na   d) NaCl 

8) what is the melting point of molecule which are attached by a metallic bond? 

a) high  b) low   c) soft   d) hard 

9)  who is responsible for the properties of electrolytes in solution? 

a) cation    b) anion  

c) A and B    d) none of the above 

10) The fraction of the total number of molecules of an electrolytes which ionizes in solution ? 

a) Dilution of solution  b) Degree of Ionization  

c) Energy of Ionization   d) none of the above  

11) What is pH of neutral solution? 

a) 4   b) 7   c) 9   d) 14 

12) Calculate the pH of water having concentration 10
-7 

mole/lit. at 25°C 

a) +4   b) -9   c) -4   d) +7  

13) In below which is the example of basic buffer solution? 

a) sodium hydroxide and sodium borate solution  

b) ammonium hydroxide and ammonium chloride solution 

c) both a & b 

d) none of the above  



14) select the Faraday’s first law in below 

a)  m ∞ Q    b) m1/m2 = E1/E2 

c) m1/m2 = Z1/Z2   d) none of the above 

15)  how  many types of electrolytes? 

a) 1   b) 3   c) 4   d) 2 

16) what is the pH range of  H3BO3 + Na2B4O7 solution? 

a) 1.1 – 3.5  b) 3.7 – 5.6  c) 6 – 9  d) 9 – 11 

17) 1F = how many coulomb? 

a) 96200  b) 96500  c) 96000  d) 96400 

18) give the example of strong electrolytes in below 

a) NaOH    b) CH4OH 

c) CH3NH2    d) none of the above 

19) what is type of CH3COOH electrolytes? 

a) strong electrolytes  b) weak electrolytes 

c) both a & b    d) none of the above 

20) which factor is responsible for the conductivity of electrolytes? 

a) temperature   b) size of ions 

c) concentration of solution  d) all of the above 

21) how many type of corrosion? 

a) 1   b) 4   c) 3   d) 2 

22) choose the factor in below which is responsible for corrosion? 

a) pH of solution  b) moisture  c) temperature d) all of the above 

23) select factor in below for reduce corrosion 

a) decrease moisture  b) use of inhibitor 

c) modification of environment d) all of the above 

24) what is the type of sodium phosphate and sodium chromate inhibitor? 

a) cathodic inhibitor   b) anodic inhibitor 

c) carbonic inhibitor   d) none of the above 

25) what is used as an anode in lead storage cell ? 

a) Lead  b) Nickel  c) Platinum  d) all of the above 

26) In Siradizing method at which temperature iron articles to be coated with zinc dust in closed 

drum? 

a) 350°C - 450°C   b) 250°C - 350°C 

c) 450°C - 550°C   d) none of the above 

27) how many types of corrosion? 

a) 2   b) 3   c) 1   d) 4 

28) what is melting point of zinc? 

a) 419°C    b) 219°C 

c) 319°C    d) none of the above 

29) In the following which unit is responsible for the quantity of heat required raise the temperature 

of 1 degree fahrenheit 1 pound of water through  

a) CHU ( centigrade heat unit) b) FHU ( Fahrenheit unit) 

c) BTU (British thermal unit) d) none of the above 

30) How many percentage of carbon in Lignite coal? 

a) 67%  b) 65%  c) 62%  d) 60% 

31) which coal contain maximum percentage of carbon? 

a) Peat coal  b) Lignite coal 

c) Anthracite  d) Bituminious coal coal 



32) what is effect of moisture on calorific value in fuel ? 

a) decrease    b) increase 

c) stable     d) none of the above 

33) which solvent is use in dry cleaning method? 

a) Diesel    b) Naphtha or solvent spirit 

c) kerosene    d) petroleum ether 

34) how many percentage of methane in natural gas? 

a) 94%  b) 92%  c) 90%  d) 88% 

35) select semi solid lubricant in below 

a) Vaseline  b) leth   c) greases  d) both a & c 

36) which oil is used in cloth industry machinery? 

a) olive oil  b) Rape seed oil c) castor oil  d) palm oil 

37) which type of lubricant is use in air craft engine? 

a) mineral oil    b) solid lubricant 

c) synthetic lubricant  d) none of the above 

38) which meter is use for measurement of viscosity? 

a) pH meter    b) Redwood viscometer 

c) potentiometer   d) thermometer 

39) what is meaning of no. of milligrams of KOH required to saponify 1gm of oil? 

a) saponification number  b) fire point  

c) constant number   d) pour point  

40) which oil is use in steam cylinder? 

a) olive oil  b) Rape seed oil c) castor oil  d) palm oil 

41) what is full name of P.V.C.? 

a) polyvinyl chlorine   b) polyvinyl chloride 

c) polyvicyl chlorine   d) none of the above 

42) what is monomer of polypropylene? 

a) propyle  b) propylene  c) ethylene  d) ethalene 

43) how many type of  polymer based on structure? 

a) 2   b) 3   c) 1   d) 4 

44) P.V.C is which type of polymer? 

a)  liner polymer   b) branched polymer 

c) cross linked polymer  d) none of the above 

45) what is meaning of polymer contain same or identical monomer in chemical structure? 

a) Homo polymer   b) Co-polymer 

c) All polymer   d) both a & b 

46) select example of thermo plastic in below? 

a) Bakelite  b) thermoplastic c) melamine  d) polyethylene 

47) what is full name of P.T.F.E. ? 

a) Polytetra fluroethylene  b) Teflon 

c) both a & b    d) none of the above 

48) which type of monomer is use for formation of Orlon fiber? 

a) Vinyl cynide   b) Ethyl cynide 

c) methyl Cynide   d) propyl cynide 

49) which type of monomer is use for formation Neoprene rubber? 

a) Chlroprenyl  b) Fluropene  c) chloroprene d) methylprenyl 

50) what is meaning of substance having extremely low thermal conductivity which prevent the loss 

of heat, conduction, Conversion or radiation? 



a) non conductor  b) conductor 

c) Insuleting material d) both a & b 

51) which type of wool is obtain from intermingled fine filaments of glass? 

a) Glass wool b) Slag wool  c) rock wool  d) mineral wool 

52) give the name of scientist is prepared dry cell in below  

a) Nuton  b) Galileo  c) Leclanche  d) Henry 

53) In dry cell graphite used as a…………….? 

a) anode    b) cathode 

c) none reactive   d) none of the above 

54) how many work efficiency of solar cell? 

a) 10%-15%  b) 15%-20%  c) 20%-25%  d) 40%-50% 

55) select manufactured insulating material in below 

a)  wood  b) grass  c) foam glass  d) animal hair  

56) In following which characteristic is occur in natural rubber? 

a) Elasticity    b) stickiness 

c) both a &b    d) none of the above 

57) what is produce by using of Bis-phenol and Epichlorohydrin monomer? 

a) synthetic resins   b) Natural resins 

c) Epoxy resins   d) none of the above  

58) which type of polymer is present in this example M-M-M-M-M-M-M-M? 

a) branched homo polymer  b) linear homo polymer 

c) cross linked homo polymer d) none of the above 

59) select example of thermosetting plastic in below? 

a) Bakelite    b) melamine 

c) both a & b    d) none of the above  

60) how many percentage of nitrogen in Natural gas? 

a) 0.5%  b) 3.5%  c) 2.5%  d) 5.5% 

61) what is meaning of any substance introduced between two moving or sliding surface to reduce 

the fractional resistance between them? 

a) Lubricant    b) lubrication 

 c) delubricant   d) none of the above 

62) In lead storage battery grid of Pb alloy coated with PbO2 act as…………? 

a) anode    b) cathode 

c) both a & b    d) none of the above 

63) dry cell is not use in……………..? 

a) torch  b) radio  c) watch  d) rubber 

64) NH4Cl and ZnCl2 mixture of paste use in……………? 

a) lead storage battery  b) dry cell 

c) fuel cell    d) solar cell 

65) vulcanization is chemical process for converting rubber or related polymer into more durable 

material by addition of………? 

a) sodium  b) phosphorus c) sulfur  d) iodine 

66) which oil contain less oiliness ? 

a) animal oil    b) mineral oil 

c) vegetable oil   d) none of the above 

67) at 25°C pure water pH is …………. 

a) 7   b) 28   c) 14   d) 5 

68) which apparatus is use for determine the flash point and fire point of lubricant? 



a) pH meter    b) redwood viscometer  

c) pensky marten   d) none of the above 

69) which material is use for galvanizing of iron or steel sheet? 

a) Zn   b) Sn   c) Cr   d) Au 

70) what is potential of dry cell? 

a) 2   b) 1.5   c) 3   d) 4.5 

 

*********** 

 
s!f VFIMlGS A\WGF lGDF"6GM VFWFZ 5ZDF6]VMGL S. J:T] p5Z VFWFZ ZFB[ K[ m 

 (A) VFIGLSZ6 XÂÉ  (B) .,[S8=MG A\W]TF 

 (C) A VG[ B   (D) VFDF\YL V[S 56 GCL 

sZf V[S TtJGL ALÔ TtJ ;FY[ ZF;FI6LS ZLT[ Ô[0FJFGL XÂSTG[ X] SC[JFI m 

 (A) A\W   (B) ;\IMHSTF 

 (C) 5ZDF6]   (D) CF.0=MHG A\W 

s#f p S,MZM lOTM,DF\ SIM A\W • Ô[JF D/[ K[P 

 (A) VF\To VF^JLI H A\W (B) VF\TZ VF^JLI H A\W 

(C) CF.0=MHG A\W  (D) VFDFYL V[S 56 GCL 

s$f 5ZDF6]GL ;C;\IMHS A\WGF EFULNFZLDF\ ZC[TF .,[S8=MG I]uDG[ VFSQF"JFGL XÂSTG[ X]\ SC[JFI m 

 (A) A\W   (B) lJn]T k6TF 

 (C) VFITL SZ6 XÂST  (D) .,[S8=MG A\W]TF 

s5f 5FZM VG[ U[,LID V[ SIF :J~5[ Ô[JF D/[ K[ m 

 (A) 3G  (B) 5|JFCL  (C) JFI]  (D) V[S56 GCL 

s&f FCC 5|SFZGL UM9J6L GLR[ VF5[,FDF\YL SIF WFT]DF\ Ô[JF D/[ K[ m 

 (A) ;MG]  (B) ,MB\0  (C) 8[U:8G  (D) V[S 56 GlC 

s*f GLR[ VF5[,FDF\YL VFIMGLS 3G 5NFY" SIM K[ m 

 (A) P4  (B) Sr  (C) Na  (D) NaCl 

s(f WFtJLI A\WYL Ô[0FI[,F 5ZDF6]GF U,GAL\N] S[JF CMI m 

 (A) pRF  (B) GLRF  (C) GZD  (D) ;BT 

s)f ãFJ6GL lJn]T JFCSTF SMG[ VFEFZL CMI K[ m 

 (A) WGFIG   (B) k6 VFIG 

 (C) (A) VG[ (B)   (D) VFDF\YL V[S 56 GCLP 



s!_f VFIMlGS 5NFYM"GL S[8,L DF+FDF\ VFIGMGF lJEFÒT YFI K[ T[ NXF"JTF VF\SG[ X]\ SC[ K[ m 

 (A) ãFJ6GL D\NTF  (B) VFIGLSZ6 V\X 

 (C) VFIGLSZ6 XÂST  (D) VFDF\YL V[S 56 GCLP 

s!!f T8:Y ãFJ6GL pH 

 S[8,L CMI K[ m 

 (A) 4  (B) 7  (C) 9  (D) 14 

s!Zf 250
 TF5DFG[ 5F6LDF\ H3O

+
 VFIGGL ;F\ãTF 10-7

 DM,Fl,8Z K[ TM T[GL pH
 U6MP 

 (A) +4  (B) -9  (C) -4  (D) +7 

s!#f GLR[GF DF\YL A[hLS AOZ ãFJ6 SI] K[ m 

 (A) ;Ml0ID CF.0=MS;F.8 VG[ ;M0LID AMZ[8G]\ ãFJ6 

 (B) V[DMGLID CF.0=MS;F.8 VG[ V[DMGLID S,MZF.0G]\ ࢳãFJ6 

 (C) A VG[ B A\G[ 

 (D) VFDF\YL V[S 56 GCLP 

s!$f O[Z[0[GM 5C[,M lGID GLR[ DF\YL 5;\N SZMP 

 (A) m a Q   (B) m1/m2 = E1/E2 

(C) m1/m2 = Z1/Z2 (D) VFDF\YL V[S 56 GlC 

s!5f lJn]T lJEFßIMGF S[8,F ÝSFZ CMI K[ m 

(A) 1  (B) 3  (C) 4  (D) 2 

s!&f H3BO3 + Na2 B4O7 GL pH
 DIF"NF S[8,L CMI K[ m 

 (A) 1.1 – 3.5 (B) 3.7 – 5.6 (C) 6 – 9  (D) 9 - 11 

s!*f 1F = S[8,F S],\A m 

 (A) 96,200 (B) 96,000 (C) 96,500 (D) 96,400 

s!(f ÝA/ lJn]TlJEFHIG]\ pNFCZ6 VF5M GLR[GF DF\YLP 

 (A) NaOH   (B) CH4OH 

 (C) CH3NH2  (D) VFDF\YL V[S 56 GCLP 

s!)f CH3 COOH SI]\ lJn]T lJEFHI K[ m 

 (A) ÝA/  (B) lGA"/  (C) A VG[ B  (D) V[S 56 GCLP 

sZ_f lJn]T lJEFHI ãFJ6GL lJn]T JFCSTF SIF 5lZA/ 5Z VFWFZ ZFB[ K[ m 

 (A) TF5DFG   (B) VFIGMG]\ SN 

 (C) ãFJ6GL ;F\ãTF  (D) p5ZMST AWF 5ZLA/M 5Z 



sZ!f ÙFZ6GF S[8,F ÝSFZ CMI K[ m 

 (A) 1  (B) 4  (C) 3  (D) 2 

sZZf GLR[GFDF\YL SI]\ 5lZA/ ÙFZ6 5Z V;Z SZ[ K[ m 

 (A) ãFJ6GL pH
  (B) E[H 

 (C) TF5DFG   (D) p5ZMST AWF 5lZA/M 

sZ#f GLR[GFDF\YL 5;\N SZM ÙFZ6 38F0JFGF p5FIMP 

 (A) E[HG[ N]Z SZLG[  (B) lGZMWSM JF5ZLG[ 

 (C) JFTFJZ6G[ ;]WFZLG[ (D) p5ZMST AWF p5FIMP 

sZ$f ;Ml0ID  ÊMD[8 VG[ OM:S[8 H[JF 5NFYM" SIF lGZMWS TZLS[ p5IMU SZJFDF\ VFJ[ K[ m 

 (A) S[YM0LS lGZMWS   (B) V[GMl0S lGZMWS 

(C) SFA"lGS lGZMWS  (D) VFD\FYL V[S 56 GCLP 

sZ5f ,[0 ;\U|FCS SMØDF\ V[GM0 TZLS[ X]\ J5ZFI K[ m 

 (A) ,[0   (B) GLS, 

 (C) %,[8LID   (D) p5ZMST AWF V[GM0 

sZ&f ;LZ[0F.hL\U 5âlTDF\ ,MB\0GL GFGL RLHJ:T]VM 5Z S[8,F TF5DFG[ hL\SG]\ ZÙ6 50 R-FJJFDF\ VFJ[ K[ m 

 (A) 350 – 450ºC  (B) 250 – 350ºC 

 (C) 450 – 550ºC  (D) VFDF\YL V[S 56 GCLP 

sZ*f WFT]GM ࡣÙI S[8,L ZLT[ YFI K[ m 

 (A) 2  (B) 3  (C) 1  (D) 4 

sZ(f hL\SG]\ U,GAL\N] S[8,]\ CMI K[ m 

(A) 419ºC   (B) 219ºC 

 (C) 319ºC   (D) VFDF\YL V[S 56 GCLP 

sZ)f 1 ZT, X]â 5F6LG]\ V[S O[ZGCL8 H[8,] TF5DFG JWFZJF S[ 38F0JF DF8[ VF5JL 50TL pQDFP  

 (A) CHU s;[g8L U[|0 CL8 I]GL8f 

(B) FHU sO[ZG CL8 I]GL8f 

 (C) BTU sA|L8LX YD", I]GL8f 

(D) VFDF\YL V[S 56 GCLP 

s#_f l,uGF.8 SM,;FDF\ S[8,F ÝDF6DF\ SFA"G CMI K[ m 

 (A) 67 %  (B) 65 %  (C) 62 %  (D) 60 % 



s#!f ;F{YL JWFZ[ SFA"G SIF SM,;FDF\ ZC[, CMI K[ m 

 (A) 5L8   (B) l,uGF.8 

 (C) V[gY[|;F.8 SM,  (D) lA8]DLGLI; SM,;M 

s#Zf E[HGF SFZ6[ A/T6GL pQDLI VYJF S[,[ZLOLS J[<I]DF X]\ O[ZOFZ Ô[JF D/[ K[ m 

 (A) 38F0M   (B) JWFZM 

 (C) VR/   (D) VFDF\YL V[S 56 GCLP 

s##f 0=FIS,LGL\UDF\ ãFJS TZLS[ S. J:T]GM p5IMU YFI K[ m 

(A) 0Lh,   (B) G[%YF VG[ ;M,Jg8 :5LZL8 

(C) S[ZM;LG   (D) 5[8=M,LILD .YZ 

s#$f G[RZ, U[;DF\ DLY[GG]\ ÝDF6 S[8,] CMI K[ m 

 (A) 94 %  (B) 92 %  (C) 90 %  (D) 88 % 

s#5f GLR[ VF5[,FDF\YL VW" 3G :G[CSM SIF\ K[ m 

 (A) J[;[,LG  (B) ,[Y  (C) U|L;  (D) (A) VG[ (C) A\G[ 

s#&f SF50 J6JFGL DL,MGF I\+DF\ SI]\ T[, J5ZFI K[ m 

 (A) VM,LJG]\ T[, (B) ;Z;JG]\ T[, (C) lNJ[,  (D) TF/ O/LG]\ T[, 

s#*f CJF. HCFH V[ÂgHGMDF\ BF; SZLG[ SI\] :G[CS J5ZFI K[ m 

 (A) BGLH T[,  (B) 3G :G[CS 

 (C) ;F\`,[lØS :G[CS  (D) VFDF\YL V[S 56 GCLP 

s#(f Â:GuWTF DF5DF\ DF8[ SI]\ ;FWG J5ZFI K[ m 

 (A) pH
 DL8Z  (B) Z[0 J]0 lJ:SMDL8Z 

 (C) 5M8[gXLIM DL8Z (D) YDM" DL8Z 

s#)f V[S U|FD T[,DF\YL ;FA] AGFJJF DF8[ H~ZL KOH GF DL,LU|FDG[ T[,GM SIM VF\S SC[JFI m 

 (A) ;FA]SZ6 VF\S (B) HJ,G VF\S (C) VR/F\S  (D) Z[,F AL\N] 

s$_f :8LD l;,Lg0ZDF\ SIM :G[CS JIZFI K[ m 

 (A) VM,LJ VM., (B) ;Z;JG]\ T[, (C) lNJ[,  (D) TF/ O/LG\] T[,P 

s$!f 5LPJLP;LP G]\ 5]~GFD X]\ YFI m 

 (A) 5M,L lJGF., S,MZLG (B) 5M,L lJGF., S,MZF.0 

 (C) 5M,L lJ;L,LG S,MZF.0 (D) VFDF\YL V[S 56 GCLP 

s$Zf 5M,L Ý[5L,LGGM DMGMDZ X]\ K[ m 



 (A) ÝM5F.,  (B) ÝM5L,LG  (C) .YL,LG  (D) .YF,LG 

s$#f 5M,LDZGF A\WFZ6GF VFWFZ[  S[8,F ÝSFZ 50[ K[ m 

 (A) 2  (B) 3  (C) 1  (D) 4 

s$$f  5LPJLP;LP V[ SIF 8F.5G]\  5M,LDZ K[ m 

 (A) Z[BLI   (B) XFBLI 

 (C) VF\TZ A\lWT 5M,LDZ  (D) VFDF\YL V[S 56 GCLP 

s$5f V[S H ;ZBF V[SF\SL V6]YL AGTF AC]3S8G[ S[JF AC]38S SC[JFDF\ VFJ[ K[ m 

 (A) ;DFG AC]38S (B) ;C AC]38S (C) AWF AC]38S (D) (A)VG[ (B)AgG[ 

s$&f GLR[ VF5[,FDF\YL TF5 ;]GdI %,F:8LS SI]\ K[ m 

 (A) A[S[,F.8  (B) YDM" %,F:8LS (C) D[,FDF.G (D) 5M,L .YL,LG 

s$*f P.T.F.E. G]\ 5]~GFD X]\ YFI m 

 (A) 5M,L 8[8=ZFO,MZM .YL,LG (B) 8[O,MG 

 (C) (A) VG[ (B) AgG[  (D) VFDF\YL V[S 56 GCLP 

s$(f VMZ,MG Z[;FVMG]\ pt5FNG S. J:T]DF\YL SZJFDF\ VFJ[ K[ m 

 (A) lJGF., ;F.GF.0  (B) .YF., ;F.GF.0 

 (C) DLYF., ;F.GF.0  (D) ÝM5F., ;F.GF.0 

s$)f lG5MÝLG ZAZ GLR[GFDF\YL SIF DMGMDZDF\YL AGFJJFDF\ VFJ[ K[ m 

 (A) S,MZM ÝLGF., (B) O,MZM ÝLG (C) S,MZM ÝLG (D) DLYF., 5|LGF., 

s5_f V[JM 5NF"Y S[ H[GFYL UZDLv9\0LvwJGL T[DH lJn]TG[ 5;FZ YJF N[TF GYL T[DH wJGLGF DMÔG]\ 5ZFJT"G YJF N[TF  GYLP 

T[JF 5NFY"G[ X]\ SC[JFI m 

 (A) VJFCS  (B) ;]JFCS  (C) lJ;\JFCL  (D) (A) VG[ (B) AgG[ 

s5!f VF<S,L D]ST SFRDF\YL SIM J], D[/JJFDF\ VFJ[ K[ m 

 (A) u,F; J],  (B) :,[U J],  (C) ZMS J],  (D) BlGH J], 

s5Zf ;]SM SMØ ;F{ÝYD SIF J{7FlGS[ AGFjIM CTM m 

 (A) gI]8G  (B) U[,[,LIM  (C) ,[S,Fg;[  (D) 0=[GL 

s5#f ;]SF SMØGF U[|OF.8GM ;/LIM SIF W|]J TZLS[ JT[" K[ m 

 (A) V[GM0   (B) S[YM0 

 (C) JT"TM GYL  (D) VFDF\YL V[S 56 GCL 

s5$f ;M,Z ;[,GL SFI" ÙDTF S[8,L CMI K[ m 

(A) 10-15% (B) 15-20% (C) 20-25% (D) 40-50% 



s55f GLR[GFDF\YL pt5FNLS VJFCS 5NFY" SIM K[ m 

 (A) ,FS0FGM J[Z (B) 3F;  (C) OMD u,F; (D) ÝF6LGM JF/ 

s5&f GL[R[GF DF\YL S. ,F1F6LSTF S]NZTL ZAZ WZFJ[ K[ m 

 (A) Â:YlT :YF5STF  (B) lRS8TF 

 (C) A VG[  B AgG[  (D) p5ZMSTDF\YL V[S 56 GCL 

s5*f AL;lOGM, VG[ V[5LS,MZM CF.0=LG DMGMDZ DFYL X]\ AGFJJFDF\ VFJ[ K[ m 

 (A)  VF5FT Z[hLG  (B) S]NZTL Z[hLG 

 (C) V[5MÙL Z[hLG   (D) VFDF\YL V[S 56 GCL 

s5(f M..M..M..M..M VF S[J]\ AC]38S K[ m 

 (A) XFBLI ;DFG AC]38S (B) Z[BLI ;DFG AC]38S 

 (C) VF0 ;F\S/ ;DFG AC]38S (D) VFDF\YL V[S 56 GCL 

s5)f GLR[GF DF\YL TF5 :YF5LT %,F:8LS SI]\ K[ m 

 (A) A[S[,F.8   (B) D[,[ DF.G 

 (C) (A) VG[ (B) AgG[  (D) VFDF\YL V[S 56 GCL 

s&_f G[RZ,F U[;GF A\WFZ6DF\ GF.8=MHGG]\ ÝDF6 S[J] CMI K[ m 

(A) 0.5%  (B) 3.5%  (C) 2.5%  (D) 5.5% 

s&!f I\+MGF UlT SZTF VYJF ;ZSTL ;5F8L JrR[ :H[CSG]\ 50 NFB, SZL ;5F8L JrR[ YT]\ 3Ø"6 38F0JFGL lÊIFG[ X]\  SC[JFIP 

 (A) :G[CS  (B) :G[CG  (C) :G[C lJ,M5G (D) :G[CLGTF 

s&Zf ,[0 ;\U|CS SMØDF\ PbO2 G]\ V:TZ ,UF0[,L ,[0GL %,[8 SIF W|]J TZLS[ JT[" K[ m 

 (A) V[GM0   (B) S[YM0 

 (C) (A) VG[ (B) AgG[  (D) VFDF\YL V[S 56 GCL 

s&#f ;]SF SMØGM p5IMU GLR[GFDF\YL S. J:T]DF\ GYL YTMP 

 (A) 8MR"  (B) Z[0LIM  (C) 30LIF/  (D) ZAZ 

s&$f NH4Cl VG[ Zncl2 GL ,]UNL SIF\ SMØDF\ CMI K[ m 

 (A) ,[0 ;\U|FCS SMØ (B) ;]SM SMØ  (C) OI]V, ;[, (D) ;M,Z ;[, 

s&5f S]NZTL ZAZG[ PPPPPPPPPPPPPP ;FY[ UZD SZL .ÂrKT U]6WDM" JF/] ZAZ D[/JJFGL 5âlTG[ J<S[GF.h[XG SC[ K[ m 

 (A) ;M0LID I]ST (B) OM:OZ; I]ST (C) ;<OZ I]ST (D) VFIM0LG I]ST 

s&&f PPPPPPPPPPPPPPPP DF\ T{,L 56 VMK] CMI K[ m 

 (A) ÝF6LH T[,  (B) BGLH T[, 

 (C) JG:5lT T[,  (D) VFDF\YL V[S 56 GCL 



s&*f 25ºc TF5DFG[ X]â 5F6LGL pH
 PPPPPPPP CMIP 

 (A) 7  (B) 28  (C) 14  (D) 5 

s&(f :G[CSG]\ E0SFAL\N] VG[ VFUAL\N] SIF ;FWGYL DF5JFDF\ VFJ[ K[P 

 (A) pH
 DL8Z   (B) Z[0J]0 lJ:SMDL8Z 

 (C) 5[gSLDF8["G V[5Z[8; (D) VFDF\YL V[S 56 GCLP 

s&)f U[<J[GF.hL\U V[8,[ PPPPPPPPPPPP WFT]G]\  ZÙFtDS 50P 

(A) Zn  (B) Sn  C) Cr  (D) Au 

s*_f ;]SF SMØGM 5M8[gXLI, PPPPPPPPPPPPPP K[ m 

 (A) 2  (B) 1.5  (C) 3  (D) 4.5 

 

************ 


